2. 59

Mm =4S k LY

\ >t T
m, = 22 h% M, 7

_/l
U = Const / [/ /.7_/)\
/AR: 0.3S

What s Ahe  normal lo(ce

between e crateg ?
So\u,"n‘ov"\.

The Rineke %cko“ forca (ogainst 17:) 1S
oV L coOme ’;‘j Pu_gb\:n& e Combined 3.154‘&/\/\

W

Sd

¥ Fk AT 0 (no acceleahn)

| 2

—

push

FpusL = 1 (m, -\-wxzﬁc} (moh%qﬁ:.l-uh_)

Feear Bodal & bhecaton | o0 | ™M T EE|
LZaCIETS , -
re - g xm
Fk 7 il g = c 2
\ < on | push S oni K |m|
3 ma%—wi\-vdes > {:Puslq L Fk, 4 on“‘ " c}
#R (W\‘* “\2'33' LN %‘ ¥ ‘:2_ on | = Fz.am:/‘lr-mlg'
N?_
E mz_ 'S alSo QCCe,Ie_-(_f,kgn - g_‘.\& |
A &m Ak [+ s pushed by F,, od acceleatd
= 2. olde o e ;
1 ™Y e th. E_‘_"_'_‘_l_— ‘—"z- Fe 23

Nole - N EEEFENECE RN Me™s G — Y



3.4 A Roak VS GQJWF,LO( ﬁ(‘Ow\ o ADUer |

(85 +'ook .S ¢ 4o reacdh me de\al-

Bow high s the Apdec ¢

Solckon— 1 =
‘3(‘[’,) = L{}D e % t

g et
L(S'u:.g) =y 4= \33 g z%t;
yl =l L1g/6

L&O‘-‘—‘CTGI M

o ——




3.94 l*'gﬁdge s \SO wm =

kK. d 1 Arops cock D t-= o0
ki 2 Meows ek @ £ =1\s m’é—;,\-\j;:?
(Aow v
Botlh. ek ot a,(wnal g.‘mulfaneevslj ;
Solukon.

CEECEICNEE W5

\60 = (S 0w

CRRNNE \30—«9({;-0 = -;_%u-n?— tp;r‘
\AM’? @ ww)m%'MLO’S_@,SOuSQS

Ylok" ‘ED'-"O ) \94...'\' 'E_°=| -3
Whaw L=t IEEE ‘f:=‘s/ £9.®
uﬂms w\Jn,\ ’hfuz S—(@-Paﬂ ecis(%w\ '(’lﬂ-au cM)
sk t&:\rz_?: 515k s
UU)':*'\8 0. = \él— "2‘_%'{;-
Frow @ B (4-1) = 4-3 4 (-1
([ = Léo { —
: i s g 1)
| ] 159 JNERESES
| | 4.8

M - =g 5 M el
12 (,,;,:Zae() or |UpeE I 51 LV {ac47>

t ol ownwesd



3.62 m =200 kg

lowesred Crea &
cof 5—7

with aq = 0.2 M Aouin

SZ..
Cable tens on —
50 [UL‘L‘QV\ . ;"Q"QD% —l-'
dﬁ”a\%_(w e 4,5
"3
! Newton's 2nd law:
% : . N
Ma&. = Fpep—yUSNY ¥ ih

= -(_i + m'j'
- ma, = T -

J i

3= m(g—r—cxj) bt atj::-—OZ_S..?_




3,63

requ e s
200

Sowme ?WSS":‘VLCS

Airplame 2 -/‘a/ﬂe,—oﬁL actelecates  from
rest up onk) /:‘f%fof,ﬁ (a2 & cou_s/—)
What covld a 4o 7
So/w"‘{ov\. wllca\l" Cam.  wc eShmmale 7
flmshm 1? (unwﬂy (.{e,u/ km, bu
USe ~ 2 kwm )
Lifb- off  speed 7 Q5o Eng

( sports cars reguire spollecs o remania
On WOUﬂd PRV )
2 > {¥.l=lo
Ve 15 U, € 2a4X IEERSFN
Ak 1
,U,.z AX = Z kRm
QA <+ _L
12 A
3
v = 250 — 2=l 70 2
f e B w0 B S B
AX = 2x (0> m
?
a2t L2 Lk 7
=1 ~ Wwe art SSe
— oL O" 3 , /w-e

u'nl—v ’hke Saq,/‘} ck[a,'#}

Koms Ok,



B4
éﬁmﬁaw\ A:Jﬁ / R: 257 <A

7

Jermined
- 4
dok s P T e
iy mesSs 7
Solun F
0 uLQV\ i Fh& 695%7 Aﬂagrm Faqug,
No aCCCIeI‘”a'A{oh als A= COVLS"'. M
Maj nidvdes F = M MJ
0‘(‘6{& 7 g‘
pl s | Fdeo 2 2 §ATS
3 & J i’}m&, T Z.SDAU_

Note . Ea (3.22) is NoT on te formola shat

! 2
-t lel iy Ssc g= 5 2 s,
3 3 = d&ng,l—7
of ar
A = 33 i
SQCJ‘ o= < — N
on T RE 12 319 = 02¥ | m*
—_— 0. Z"f'é mz
M = 0.5 >~ [.3 x 0244 x 26. b
7 g &
=10~ b—&- Hean'es fham ampecie L 4

[@lMOSf G Pguno?/ bt
the diameder s O-SE m ,‘ )



